
AVIXA AV Math Practice
Test (Sample)
Study Guide

Everything you need from our exam experts!

Sample study guide. Visit https://avixaavmath.examzify.com



Copyright © 2025 by Examzify - A Kaluba Technologies Inc. product.

ALL RIGHTS RESERVED.

No part of this book may be reproduced or transferred in any form or by any
means, graphic, electronic, or mechanical, including photocopying,
recording, web distribution, taping, or by any information storage retrieval
system, without the written permission of the author.

Notice: Examzify makes every reasonable effort to obtain from reliable
sources accurate, complete, and timely information about this product.

1Sample study guide. Visit https://avixaavmath.examzify.com for the full version

SA
M

PLE



Questions

2Sample study guide. Visit https://avixaavmath.examzify.com for the full version

SA
M

PLE



1. What principle does inductive reactance operate on?
A. It converts electrical energy into magnetic energy.
B. It opposes changes in current flow due to inductors in AC

circuits.
C. It stores energy in an electric field.
D. It allows current to flow without resistance.

2. How do you calculate the total capacitance in a parallel
circuit?
A. Total Capacitance (Ctotal) = C1 + C2 + C3 + ... + Cn
B. Total Capacitance (Ctotal) = C1 * C2
C. Total Capacitance (Ctotal) = 1/(1/C1 + 1/C2)
D. Total Capacitance (Ctotal) = C1 - C2

3. What is one potential consequence of having a high
amount of reactive power in a system?
A. Increased efficiency of power generation
B. Reduced capacity for real power transfer
C. Lower electricity bills
D. Improved performance of resistive loads

4. How does the arrangement of loudspeakers in parallel
affect total impedance?
A. Total impedance increases
B. Total impedance decreases
C. Total impedance remains unchanged
D. Total impedance could vary widely

5. What does the term “bridge” refer to in the context of
audio amplifiers?
A. A technique for improving sound clarity
B. A way to connect two amplifiers for better stereo sound
C. A method of connecting two amplifier channels to increase

power output to a speaker
D. A type of equalizer setting
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6. When calculating throw distance, which parameter is
necessary along with width?
A. Screen height
B. Lens type
C. Aspect ratio
D. Maximum height

7. What is the effect of increasing capacitance in an audio
circuit?
A. It increases frequency response
B. It decreases impedance
C. It allows more current flow
D. It can affect the circuit's time constant

8. What defines a projector's throw distance?
A. The distance of the projector's lens to the screen for a given

image size
B. The zoom ratio of the projector
C. The distance from the projector to the floor
D. The screen's diagonal measurement at a certain distance

9. What is the purpose of grounding in electrical systems?
A. To increase electrical resistance
B. To provide a safe path for excess electricity
C. To enhance power generation
D. To convert AC to DC

10. How do you calculate the power consumed by a resistor?
A. P = I × R
B. P = V × I
C. P = V^2 / R
D. P = R / V
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1. B
2. A
3. B
4. B
5. C
6. A
7. D
8. A
9. B
10. C

6Sample study guide. Visit https://avixaavmath.examzify.com for the full version

SA
M

PLE



Explanations
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1. What principle does inductive reactance operate on?
A. It converts electrical energy into magnetic energy.
B. It opposes changes in current flow due to inductors in AC

circuits.
C. It stores energy in an electric field.
D. It allows current to flow without resistance.

Inductive reactance is a concept fundamental to understanding how inductors behave in
alternating current (AC) circuits. It operates on the principle that inductors oppose
changes in current flow. This opposition arises because inductors generate a magnetic
field when current flows through them. According to Lenz's law, any change in the
current flow will induce a voltage in the opposite direction, effectively resisting the
change.   In AC circuits, the current direction changes periodically, and inductive
reactance becomes significant because it creates a phase shift between the voltage and
current. This characteristic is critical in AC applications, as it affects the overall
impedance of the circuit and can impact the efficiency and functionality of various
electrical systems.  The other options do not accurately convey the primary principle at
work with inductive reactance. While inductors do indeed convert electrical energy into
magnetic energy, that is not the principle of inductive reactance itself. Storing energy in
an electric field pertains more to capacitors, not inductors. Additionally, while inductors
do allow current to flow, they do so with a specific characteristic of opposition to changes
rather than merely allowing current without resistance.

2. How do you calculate the total capacitance in a parallel
circuit?
A. Total Capacitance (Ctotal) = C1 + C2 + C3 + ... + Cn
B. Total Capacitance (Ctotal) = C1 * C2
C. Total Capacitance (Ctotal) = 1/(1/C1 + 1/C2)
D. Total Capacitance (Ctotal) = C1 - C2

In a parallel circuit, the total capacitance is calculated by simply adding the individual
capacitances of all capacitors connected in parallel. This is because, in a parallel
configuration, each capacitor experiences the same voltage across it, allowing for the
effective accumulation of charge.   The formula for total capacitance in this scenario,
which combines all the capacitances, reflects how the total ability to store energy
increases as more capacitors are added. Each additional capacitor contributes its own
capacity to store charge, resulting in a summative effect. Thus, the expression correctly
calculates the total capacitance as the sum of the individual capacitances, leading to a
higher overall capacitance.  Other formulas for capacitance, such as those involving
multiplication or reciprocal sums, are applicable to different circuit arrangements, like
series circuits or specific mixed configurations, but they do not apply here. This principle
is crucial for understanding how capacitors behave in different arrangements within
electrical circuits.
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3. What is one potential consequence of having a high
amount of reactive power in a system?
A. Increased efficiency of power generation
B. Reduced capacity for real power transfer
C. Lower electricity bills
D. Improved performance of resistive loads

A high amount of reactive power in a system can lead to a reduced capacity for real
power transfer. Reactive power does not perform any useful work; instead, it oscillates
between the source and the load. If there is excessive reactive power, it can fill up the
available capacity in the system, which means that less capacity is available for real
power, or active power, that actually performs work.  In practical terms, when the
reactive power is high, it can lead to increased line losses and voltage drops, reducing
the overall real power that can be effectively transmitted. This can cause inefficiency in
power systems and could necessitate further measures, such as installing reactive power
compensation devices (like capacitors) to bring the levels back in balance. Hence, the
consequence of having too much reactive power primarily manifests in the ability of the
system to transfer the required real power effectively.

4. How does the arrangement of loudspeakers in parallel
affect total impedance?
A. Total impedance increases
B. Total impedance decreases
C. Total impedance remains unchanged
D. Total impedance could vary widely

When loudspeakers are arranged in parallel, the total impedance of the system
decreases. This is because, in a parallel circuit, the total impedance (Z_total) can be
calculated using the formula for parallel resistances. For two or more resistances (or
impedances, in the case of loudspeakers), the total impedance is less than the smallest
individual impedance in the group.   In practical terms, this arrangement allows for
multiple pathways for the current to flow, which effectively reduces the overall opposition
to the flow of electricity within the circuit. By connecting the speakers in this manner,
each speaker shares the load, and as the number of parallel paths increases, the overall
impedance decreases.   In contrast, if loudspeakers were connected in series, the total
impedance would increase, as the impedance values would simply add together. This
distinction highlights why, in a parallel arrangement, the total impedance decreases
rather than stays the same or increases.   Understanding this concept is critical for audio
system design, as it impacts how loudspeakers should be configured to ensure optimal
performance and compatibility with amplifiers.
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5. What does the term “bridge” refer to in the context of
audio amplifiers?
A. A technique for improving sound clarity
B. A way to connect two amplifiers for better stereo sound
C. A method of connecting two amplifier channels to increase

power output to a speaker
D. A type of equalizer setting

In the context of audio amplifiers, the term “bridge” specifically refers to a method of
connecting two amplifier channels to increase the power output to a speaker. This
technique involves combining the output of two channels to drive a single speaker,
effectively doubling the voltage delivered to the speaker and thus providing more power.
In a bridged configuration, one channel outputs a positive signal, while the other outputs
a negative signal, causing the speaker to experience a higher voltage, which translates to
increased power.  This method is particularly useful for driving low-impedance speakers
that require more power than a single channel can provide on its own. The result is not
just an increase in power output but also enhances the performance of the audio system,
allowing for better sound levels and dynamics without significantly increasing distortion. 
This bridged approach differs from simply connecting two amplifiers or utilizing
equalizer settings, as it specifically focuses on power amplification capabilities through
channel bonding. Such a configuration is commonly found in professional audio
environments where high volume and clarity are required from performance equipment.

6. When calculating throw distance, which parameter is
necessary along with width?
A. Screen height
B. Lens type
C. Aspect ratio
D. Maximum height

In calculating the throw distance for a projector, the necessary parameters include the
width of the image and the height of the screen. The throw distance is determined by the
size of the image that the projector is supposed to produce on the screen, which is
defined by both its width and height.   By knowing the screen height, along with width,
you can better understand the dimensions of the projected image and how far the
projector needs to be placed from the screen. The relationship between the width and
height allows you to apply the aspect ratio correctly, which further ensures that the
image is displayed accurately on the screen.   While other parameters such as lens type
and maximum height can influence the projection setup, they do not directly establish
the relationship needed to calculate the throw distance in conjunction with image width.
Therefore, the screen height is essential for accurate calculations concerning projector
placement and image projection dimensions.

10Sample study guide. Visit https://avixaavmath.examzify.com for the full version

SA
M

PLE



7. What is the effect of increasing capacitance in an audio
circuit?
A. It increases frequency response
B. It decreases impedance
C. It allows more current flow
D. It can affect the circuit's time constant

Increasing capacitance in an audio circuit has a significant impact on the circuit's time
constant, which is defined as the time it takes for the voltage across the capacitor to
charge or discharge to approximately 63% of its final value. This time constant is directly
proportional to capacitance. As the capacitance increases, the time constant increases,
leading to a slower response time in the circuit. This slower response can affect how the
audio signals are processed, impacting the overall sound quality and ability to handle
transient signals.  For instance, an increased capacitance may result in a smoother, more
gradual change in voltage across the capacitor, which can influence the frequency at
which the circuit operates effectively. This can be particularly important in audio
applications where timing and signal integrity are crucial for sound reproduction. Thus,
understanding the effect of capacitance on the time constant helps in designing circuits
that meet specific audio performance criteria.

8. What defines a projector's throw distance?
A. The distance of the projector's lens to the screen for a given

image size
B. The zoom ratio of the projector
C. The distance from the projector to the floor
D. The screen's diagonal measurement at a certain distance

The correct definition of a projector's throw distance is the distance of the projector's
lens to the screen for a given image size. This measurement is crucial because it directly
influences how large the projected image will appear on the screen. The throw distance
indicates how far back the projector must be placed from the screen to achieve the
desired image size, which is essential in various settings, such as classrooms and home
theaters.  Understanding the throw distance allows installers and users to determine
whether a specific projector can be appropriately situated in a given space to meet both
aesthetic and functional requirements. It helps in avoiding issues like image distortion or
an image that’s too small or too large for the viewing area.   The other choices do not
accurately express the concept of throw distance. The zoom ratio refers to the ability of a
projector to adjust the image size without moving the projector itself, and the distance
from the projector to the floor is irrelevant to the image size. Lastly, the screen's
diagonal measurement relates to the size of the screen rather than the specific
requirement for the throw distance of the projector.
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9. What is the purpose of grounding in electrical systems?
A. To increase electrical resistance
B. To provide a safe path for excess electricity
C. To enhance power generation
D. To convert AC to DC

The purpose of grounding in electrical systems is primarily to provide a safe path for
excess electricity. Grounding helps protect both people and equipment by ensuring that
in the event of a fault—such as a short circuit or lightning strike—excess electrical
energy can flow safely into the ground rather than through a person's body or through
sensitive equipment.  When a system is properly grounded, it reduces the risk of electric
shock and prevents damage to electrical devices by directing stray electrical currents
away from them. This is vital in maintaining the safety and reliability of electrical
installations. Grounding systems are designed to take advantage of the earth's ability to
absorb and disperse the energy safely.  The other options do not accurately describe the
role of grounding. For instance, increasing electrical resistance is not a goal of
grounding; in fact, grounding aims to minimize resistance to ensure safe passage of
current. Enhancing power generation relates more to improving efficiency and output
rather than grounding. Converting AC to DC has to do with rectification processes and is
not related to grounding's function in protecting circuits and users.

10. How do you calculate the power consumed by a resistor?
A. P = I × R
B. P = V × I
C. P = V^2 / R
D. P = R / V

To determine the power consumed by a resistor, the formula P = V^2 / R is indeed
correct. This equation is derived from Ohm's Law, which states that the voltage across a
resistor (V) is equal to the current (I) flowing through it multiplied by the resistance (R),
or V = I × R.   When calculating power, we have several relationships that can be
expressed based on Ohm’s Law. The power consumed by an electrical component is
generally calculated using the relationship P = V × I. By substituting Ohm's Law into this
equation, we can express power in terms of voltage and resistance.  Using V = I × R
allows us to isolate current (I) as I = V / R. By substituting this into the power formula P
= V × I, we get P = V × (V / R), which simplifies to P = V^2 / R. This shows how the power
is dependent on the voltage across the resistor and the resistance itself.   This formula
highlights how power increases with the square of the voltage and inversely with the
resistance, indicating that for a given resistor, increases in voltage lead to a much larger
increase in power consumption.   This relationship is crucial in
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